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                                             Центральная часть сечения                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                  вихревого  солитона.
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x = cos(t) cos(c);


y = sin(t) cos(c);


z = -sin(c),


где c = tg^-1 (A∙t), 


A – некоторая постоянная.


 �HYPERLINK "http://mathworld.wolfram.com/SphericalSpirl.html"��http://mathworld.wolfram.com/SphericalSpirl.html�
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